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2 Corrections to UTRA capability testcase 8.1.5.7
2.1 ts_CheckBand1_To7
	Object name 
	ts_CheckBand1_To7

	Reason for change
	The teststep does not allow P-GSM to be not present in the compressedModeMeasCapabGSMList when E-GSM is supported as agreed in R5-123568. 

	Summary of change
	Modified the TTCN to allow the following behaviours
· if pc_P_GSM_900_BAND is true and pc_E_GSM_900_BAND is false check the presence of gsm900P in compressedModeMeasCapabGSMList
· if pc_P_GSM_900_BAND is true and pc_E_GSM_900_BAND is true allow the presence of gsm900P in compressedModeMeasCapabGSMList
· if pc_P_GSM_900_BAND is false then gsm900P should not be part of compressedModeMeasCapabGSMList


	Source of change
	

	Label
	


Before:
[image: image1.png]Test Step

[TestSten 10 ts_CheckBandt_To7

p_UE_RadioccessCapabiliy : UE_RadioAccessCapabBandFDDList
)

Test Step Group Ref. UE_CapabiliySteps!
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[image: image2.png]It_CheckGSM_Measurement (p_UE_RadioAccessCapabBandFDD : UE_RadioAccessCapabBandFDD )

54 [pc_GSM_450_BAND AND
(p_UE_RadioAccessCapabBandFDD measurementCapabiliy compressediodeMeasCapabOSMList for_
K radioFrequencyBandGSh = gsmd50) |

55 dov Ki=toy_Kel)

56 [pc_GSM_480_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapabiliy compressediodeMeasCapabOSMList for_
K radioFrequencyBandGSh = gsm4s0) |

57 v K=toy_Kel)

58 [pc_GSM_850_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapabiliy compressediodeMeasCapabOSMList for_
K radioFrequencyBandGSh = gsmas0 )|

59 dov Ki=tov_Kel)

60 [pc_P_GSM_00_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapabiliy compressediodeMeasCapabOSMList for_
K radioFrequencyBandGSM = gsmanoP ) |

61 dov K=ty Kel)

62 [pc_E_GSM_00_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapability compressediodeMeasCapabOSMList for_
K radioFrequencyBandGSM = gsmanoE ) |

63 dov K=ty Kel)

64 [pc_DCS_1800_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapabiliy compressediodeMeasCapabOSMList fior_
K radioFrequencyBandGSh = gsm1300) |

65 ov Ki=toy_Kel)

66 [pc_PCS_1300_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapability compressediodeMeasCapabOSMList for_
K radioFrequencyBandGSh = gsm1300) |

67 o K=ty Kel)
68 [TRUE] ®
69 o Ki=tov_Len) To stop the REPEAT Ioop as the checkis FAIL

@sic R8s120177 sic@
It_CheckRF_CapabilityExtension ( p_UE_RadioAccessCapabBandFDD - UE_RadioAccessCapabBandFDD )





After:
[image: image3.png]Test Step

[TestSten 10 ts_CheckBandt_To7

p_UE_RadioccessCapabiliy : UE_RadioAccessCapabBandFDDList
)

Test Step Group Ref. UE_CapabiliySteps!

onjectve Checichand 110 7 capabilfes reporied
Defauts RRC_Dern
comments o1, CountBan1 7 is revisouly nfilise n fs_CounthumberoBans
N Cabel Ti Behaviour Descriplion Ti Constraimt Re Ti Veralet Ti e





[image: image4.png]t_CheckGSM_Measurement ( p_UE_RadioAccessCapabBandFDD : UE_RadioAccessCapabBandFDD )

54

[pe_GSM_450_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapabil
ity compressedhodeMeasCapabGEMList ficv_K] radioF e
uencyBandGSM = gsmdso) |

(ev_K = tev_Ke1)

[pe_GSM_480_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapabil
ity compressedhodeMeasCapahGEMList ficv_K] radioFreq
uencyBandGSM = gsmdso) |

(ev_K = tev_Ke1)

[pe_GSM_850_BAND AND
(p_UE_RadioAccessCapabBandFDD measurementCapabil
ity compressedhodeMeasCapahGEMList ficv_K] radioFreq
uencyBandGSM = gsmas) |

[pe_P_GSM_300_BAND AND (NOT pc_E_GSM_900_BAND
) AND

(p_UE_RadioAccessCapabBandFDD measurementCapabil
ity compressedhodeMeasCapahGEMList ficv_K] radioFreq
uencyBandGSM = gsmanoP )|

(ev_K = 0v_Ke1)

[pe_P_GEM_300_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapabil
ity compressedhodeMeasCapahGEMList ficv_K] radioFreq
uencyBandGSM = gsmanoP )|

ov K

(p_UE_RatinAccessCapabBandF DD measurementCapatil
ity.compressedModeMeasCapahGSMLIst [tov_K] radioFreq
uencyBandoah = gsman0E ) |

ov_K = tov_Ke)

{pe_DCS_1800_BAND AND
(p_UE_RatioAccessCapabBandF DD measurementCapatil
ity.compressedModeMeasCapahGSMLIst [tv_K] radioFreq
uencyBand6ah = gsm1800) ]

ev_K = tov_Ke)

{pc_PCS_1900_BAND AND
(p_UE_RatioAccessCapabBandF DD measurementCapatil
ity.compressedModeMeasCapahGSMLIst [tv_K] radioFreq
uencyBand6ah = gsm1900) ]

e K = toy_Ke)

TrRUE]

pc_P_GSM_300_BAND AND pc_E_GSH_300_BAND AND
(NOT (p_UE_RadinAccessCapabBandFDD measurement
Capability.compressedModeMeas CapabGSMList ftev_K] rad
ioFrequencyBandGah = gsman0P )l

Jotev_K = tov_k+1)

(TRUE]

It_CheckRF_CapahilityExtension (p_UE_RadioAccessCapabBandFDD - UE_RadioAccessCapabBandFDD )

e
To Check gsm300F ifpe_E_GSM_900_BAND is
FALSE and pe_P_GSM_300_BAND is TRUE

e
To Check gsm300F ifpe_E_GSM_900_BAND is
TRUE

W removed (F)

IfE_GSM_300_BAND is true _P_GSM_300_BAN

D should be true and also allawing gsma00P not
to be inthe list

®
To stop the REPEAT Ioop as the checkis FAIL
@sic R8s120177 sic@





2.2 ts_CheckBand8_To22
	Object name 
	ts_CheckBand8_To22

	Reason for change
	1. The teststep does not allow P-GSM to be not present in the compressedModeMeasCapabGSMList when E-GSM is supported.

2. At Line no 3 the condition should check for <=tcv_Len, as extension indicator may be included by the UE,
3. In UE_RadioAccessCapabBandFDDList2, the UE provides the additional bands it supports (8..22) and for each additional bands it supports it provides UE_RadioAccessCapabBandFDD2, as part of this bands 1..7 will be included.


	Summary of change
	1. Modified the TTCN to allow the following behaviours

· if pc_P_GSM_900_BAND is true and pc_E_GSM_900_BAND is false check the presence of gsm900P in compressedModeMeasCapabGSMList
· if pc_P_GSM_900_BAND is true and pc_E_GSM_900_BAND is true allow the presence of gsm900P in compressedModeMeasCapabGSMList
· if pc_P_GSM_900_BAND is false then gsm900P should not be part of compressedModeMeasCapabGSMList
2. added tcv_CountBand8_22 <= tcv_Len and included extension indicator as part of lt_FillInBandInfo2
3. In lt_Check_MeasurementFDD2 added check for bands 1..7 (radioFrequencyBandFDD) and to check for 8..22 radioFrequencyBandFDD2


	Source of change
	

	Label
	


Before:

[image: image5.png]Test Step

[TestSten 10 ts_CheckBands_To2z (

p_FDDList2 : UE_RadioAccessCapabBandFDDLIst2
)

Test Step Group Ref. UE_CapabilitySteps!

Objective: To check band 8 to 22 capabilies reported
Defaults: RRC_Defl
Comments: tov_CountBand8_22 is previsouly initialised in ts_CountNumberOfBands

Seiavour Desoron T

Canstraint Ref

]l Commerts

[(tev_CountBands_22 <> 0)]
(tcv_Len = NUMBER_OF_ELEMENTS (p_FDDList2),

v K=0)

|ttev_CountBands_22=tev_Len]

| REPEAT I_FilllnBandinfo2 UNTIL [tev_K == tev_Len ]

||+ t_CheckEachBand2 (pe_Band8_Supp, tev_UE_RadioAccessCapabiliyBands)

||+ t_checkEachBand2 (pe_Banda_sup, tev_UE_RadioAccessCapabiliyBands)

1|+ H_checkeachBana2 (pe_Band10_supp, tev_UE_RadioAccessCapabiltyBand1)

|+ _CheckEachBand2 (pe_Band11_Sup, iey_UE_RadioAccessCapabiliyBand11)

[+ I_CheckEachBand2 ( pc_Band12_Supp, to_UE_RadiokccessCapabiliyBand12)
|+ _CheckEachBand2 (pe_Band13_Sup, iey_UE_RadioAccessCapabiliyBand13)
[+ I_CheckEachBand2 ( pc_Band14_Supp, to_UE_RadioAccessCapabiliyBand 4)
|+ _CheckEachBand2 (pe_Band19_Sup, iey_UE_RadioAccessCapabiliyBand19)
||+ 1_CheckEachBand2 (pe_Band21_Supp, tev_UE_RadioAccessCapabiliyBand20)
||+ 1 CheckEachBand2 (pe_Band21_Supp, tev_UE_RadioAccessCapabiliyBand21)
I||‘ I CheckEachBand2 (pe_Band21_Supp, tov_UE_RadioAccessCapabiliyBand22)
|

|| [tev_RF_CapabiliyReported = TRUE |
| (TRUET
(TRUE]

[TRUE]

te_Len'= number of bands infarmation inthe list

(P) RF capabilly shall be reported atleast once.

(F) RF capabiliy not reported at al

(F) The number of bands 8-22 supported is different fom the number of slementin
thelist





[image: image6.png]t_Check_MeasurementFDD2 (p_UE_RadioAccessCapabBandFDD : UE_RadioAccessCapabBandFDD2)

36 [pc_Bands_Supp AND
(p_UE_RadioAccessCapabBandFDD measurementCapabiliy2 compressedModeMsasCapabFDDList fto
v_K]radioF requencyBandFDD2 = bandvill |

37 (oK =t K1)

38 [pe_Bandd_Supp AND
(p_UE_RadioAccessCapabBandFDD measurementCapabiliy2 compressedModeMsasCapabFDDList fto
v_K]radioF requencyBandFDD2 = bandbo |

38 (oK =t K +1)

40, [pc_Band10_Supp AND
(p_UE_RadioAccessCapabBandFDD measurementCapabiliy2 compressedModeMsasCapabFDDList fto
v_K]radioF requencyBandFDD2 = banch0 |

4 (oK =t K 1)

420 [pe_Band11_Supp AND
(p_UE_RadioccessCapabBandFDD measurementCapabiliy2 compressedModeMsasCapabFDDList fto
v_K]radioF requencyBandFDD2 = band) |

43 (oK =t K +1)

44, [pc_Band12_Supp AND
(p_UE_RadioAccessCapabBandFDD measurementCapabiliy2 compressedModeMsasCapabFDDList fto
v_K]radioF requencyBandFDD2 = banddl) |

45 (o K =t K +1)

46 [pc_Band13_Supp AND
(p_UE_RadioAccessCapabBandFDD measurementCapabiliy2 compressedModeMsasCapabFDDList fto
v_K]radioF requencyBandFDD2 = bandil |

47 (oK =t K 1)

48| [pc_Band14_Supp AND
(p_UE_RadioAccessCapabBandFDD measurementCapabiliy2 compressedModeMsasCapabFDDList fto
v_K]radioF requencyBandFDD2 = bandiV) |

49 (o K =t K +1)

50 [pc_Band19_Supp AND
(p_UE_RadioAccessCapabBandFDD measurementCapabiliy2 compressedModeMsasCapabFDDList fto
v_K]radioF requencyBandFDD2 = bandb) |

51 (oK =t K +1)

52 [pc_Band21_Supp AND
(p_UE_RadioccessCapabBandFDD measurementCapabiliy2 compressedModeMsasCapabFDDList fto
v_K]radioF requencyBandFDD2 = bandbod) |

53 (oK =t K +1)

54 [TRUE]

It_CheckMeasurementGSM2_List ( p_UE_RadioAccessCapabBandFDD : UE_RadioAccessCapabBandFDD2 )

®





[image: image7.png]H_CheckGEM_Msasurement2 (p_UE_RadioAccessCapabBandFDD : UE_RadioAccessCapabBandFDD2)

63 [pc_GSM_450_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapability2 compressediodeMeasCapabOSMList fov
_KiradioFrequencyBandGsM = gsm450) |

64 ov Ki=toy_Kel)

65 [pc_GSM_480_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapability2 compressediodeMeasCapabOSMList fov
_KiradioFrequencyBandGsM = gsm480) |

6 ov K=ty Kel)

67 [pc_GSM_850_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapability2 compressediodeMeasCapabOSMList fov
_KiradioFrequencyBandGsM = gsmgs0) |

68 ov Ki=tov Kel)

69 [pc_P_GSM_00_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapability2 compressediodeMeasCapabOSMList fov
_KiradioFrequencyBandGSM = gsm300p ) |

70 o Ki=tor_Kel)

71| [pc_E_GSM_800_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapability2 compressediodeMeasCapabOSMList fov
_KiradioFrequencyBandGSM = gsm300E ) |

72 o K=ty Kel)

73| [pc_DCS_1800_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapability2 compressediodeMeasCapabOSMList fov
_KiradioFrequencyBandGM = gsm1800) ]

T4 o K=ty Kel)

75 [pc_PCS_1300_BAND AND
(p_UE_RadioAccessCapabBandF DD measurementCapability2 compressediodeMeasCapabOSMList fov
_KiradioFrequencyBandGM = gsm1900) ]

B o K=ty Kel)
77 [RUE
78 o

®

To stop the REPEAT Ioop as the checkis FAIL
@sic R55120177 sic@
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1 (p_FDDList2. iev_K]. radioF equencyBandF DD2 = bandVil) AND pe_Band8_Supp|
(iev_UE_RadiofccessCapabiliyBands = p_FDDList2. oK)

Jtev K = tev k1)

[(p_FDDList2 . tev_K). radioFrequencyBandFDD2 = band[x) AND pc_Band9_Supp ]
(iev_UE_RadiofccessCapabiliyBandd = p_FDDList2. oK)

Jotoy =tov sy

[(p_FDDList2 . tev_K). radioF requencyBandFDD2 = band) AND pc_Band10_Supp ]
(1ev_UE_RaioaccessCapabiiyBand10:= p_FDDLISt2. v K))

Jtev K = tev k1)

[(p_FDDList2 . [tev_K]. radioFrequencyBandFDD2 = bandx() AND pc_Band11_Supp]
(iev_UE_RadiofccessCapabiliyBand11 = p_FDDList2. fiv_Kq)

[t K =tev k1)

[(p_FDDList2. [tev_K]. radioFrequencyBandFDD2 = bandxll) AND pe_Band12_Supp]
(iev_UE_RadioccessCapabiliyBand12:= p_FDDLIst2. fiv_Kq)

Jtev K = tev k1)

[(p_FDDList2. [tev_K). radioFrequencyBandFDD2 = bandxil) AND pc_Band13_Supp ]
(1ev_UE_RadioaccessCapabiiyBand13:= p_FDDLISt2. v K))

Jotoy =tov sy

[(p_FDDList2 . [tev_K). radioFrequencyBandFDD2 = band:IV) AND pc_Band14_Supp]
(iev_UE_RadioccessCapabiliyBand14 = p_FODList2. fiev_Kq)

Jtev K = tev k1)

[(p_FDDList2 . [tev_K)]. radioFrequencyBandFDD2 = band(X) AND pc_Band19_Supp]

(tev_UE_RadioAccessCapabiliyBand19 = p_FDDListz. fitv_K )
|(m,x =toy Ke1)
[(p_FDDListz. tev_K]. radioFrequencyBandFDD2 = bancboq AND pe_Band20_Supp |

(tov_UE_RadioccessCapabiliyBand20 = p_FDDList2 . fiov_K9)

|(m,x =toy Ke1)
[(p_FDDListz. tev_K]. radioFrequencyBandFDD2 = bandbod) AND pe_Band21_Supp]

(tov_UE_RadioAccessCapabiliyBand21 = p_FDDList2 . fiov_K9)

|(m,x =toy Ke1)

[(p_FDDListz. tev_K]. radioFrequencyBandFDD2 = band:odl) AND pe_Band22_Supp ]
(tov_UE_RadioAccessCapabiliyBand22 = p_FDDList2 . tov_K])

|(m,x =toy Ke1)

[TRUE]

Band wrongly encoded





After

[image: image9.png]Test Step

[TestSten 10 ts_CheckBands_To2z (
p_FDDList2 : UE_RadioAccessCapabBandFDDLIst2
)
Test Step Group Ref. UE_CapabilitySteps!

Objective To check band 8t 22 capailties reported
Defaults RRC_Deft
GComments: tev_CountBandB_23 is previsouly inftialised ints_Counturnber0ands
Ind JI Label JI Behaviour Description JI Caonstraint Ref JI Verdict JI Comments
0 [(tev_CourtBands_17 <= 0)]
1 (tcv_Len = NUMBER_OF_ELEMENTS (p_FDDList2), tev_Len = nurmber of bands information i the list
2 Wi Added less than or equalto as exension ind
icator can be incluged
3 REPEAT IL_FillnBandinfo2 UNTIL {tov_K == tov_Len]
4 uo It_CheckEachBand2 ( pe_Bands_Supp, tov_UE_Radio
cessCapaniliyBands)
5 uo It_CheckEachBand2 ( pe_Band8_Supp, tov_UE_Radio
cessCapaniliyBands)
[ m It_CheckEachBand2 ( pe_Band10_Supp, tev_UE_Rad
ibccessCapabiliyBand1 0)
7 ul It_CheckEachBand2 ( pe_Band11_Supp, tev_UE_Rad
ibccessCapabiliyand1 1)
i ":u It_CheckEachBand2 ( pe_Band12_Supp, tev_UE_Ra
ccessCapabiliyBand1 2)

+ li_CheckEachBand2 (pe_Band13_Supp, tev_UE_R
coessCapabiliyBand13)

10 '+ i_CheckEachBand2 ( pe_Band14_Supp, tov_UE_R
coessCapabiliyBand1 4)

1" + i_CheckEachBand2 (pe_Band19_Supp, tov_UE_
ccessCapabiliyBand19)

12 + i_CheckEachBand2 ( pe_Band21_Supp, tov_UE_
coessCapabiliyBand20)
+ i_CheckEachBand2 ( pe_Band21_Supp, tov_UE_
coessCapabiliyBand21)

13

14 HmlJL It_CheckEachBand2 ( pe_Band21_Supp, tov_UE
ibhccessCapabiliyBandad)
15 11111 tev_RF_CapabiliyReported = TRUE | ®) RF capability shall be reported at least once
15 I TRUE] ® RF capahility not reported at all
2 |[muE| ® ‘The number of bands 8-22 supporied is difierent
vom the number of element n the list

0 [TRUE]
t_CheckEachBand2 (p_Band : BOOLEAN; p_UE_RadioAccessCapabBandFDD : UE_RatioActessCapabBandFDD2)
0 {n_Band]
1 + I_CheckRF_CapabilibyExtension? ( n_UE_RadioAccess

CapahBandFOD)
2 lo t_CheckMeasurementFDD2_List ( p_UE_RadioAcces

CapabBandFDD)
3 lo It_CheckieasurementGSM2_List ( p_UE_RadioAcces

CapabBandFDD)

0 [TRUE]





[image: image10.png]radioFrequencyBandF D) |

The_Band1_Supn AND
p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeMeasCapabF DDList [tev_K] radioFrequencyBandFDD = fdd2100) ]
[(tev K = tev_K +1)

[ pc_Band2_Supp AND

p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeMeasCapabF DDList [tev_K] radioFrequencyBandFDD = fdd1900) ]
[(tev_i = tov_K +1)

[ pc_Band3_Supp AND.

p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeMeasCapabF DDList [tev_K] radioFrequencyBandFDD = fdd1800) |
[(tev_i = tov_K +1)

[ pc_Band4_Supp AND

p_UE_RadioAccessCapabBandFDD.measurementCapability2. compressedModeheasCapabF DDList [tev_K] radioFrequencyBandFDD = bandiv) ]
[(tev_i = tov_K +1)

[ pc_Bands_Supp AND

p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeheasCapabF DDList [tev_K] radioFrequencyBandFDD = bandV) ]
[(tev_i = tov_K +1)

[ pc_Bande_Supp AND

p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeMeasCapabF DDList [tev_K] radioFrequencyBandFDD = bandvl) ]
[(tev_i = tov_K +1)

( pc_Band?_Supp AND

p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeMeasCapabF DDList [tev_K] radioFrequencyBandFDD = bandvil ) |
[(tev_i = tov_K +1)

i

p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeMeasCapabF DDList [tev_K] radioFrequencyBandF DD = extension_indicator) |

adioAccessCapabBandr DD measurementCapabilty compresssamodeteasCapabF DDLIsL icY_K] radioF requencyBandr DD2) |

[pc_Banda_Supp AND.
(p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModehMeasCapabF DDList [tev_K] radioFrequencyBandFDD2 = bandvill) |
Jitev K = tev K +1)

{pc_Banda_Supp AND.

(p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeMeasCapabF DDList [tev_K] radioFrequencyBandFDD2 = bandl |
Jitev K = tev K +1)

{pc_Band10_Supp AND

(p_UE_RadioAccessCapabBandFDD.measurementCapability2. compressedModeMeasCapabF DDList [tev_K] radioFrequencyBandFDD2 = band) |

Jitev K = tev K +1)

{pec_Band11_Supp AND

(p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeMeasCapabF DDList [tev_K] radioFrequencyBandFDD2 = bandi() |
Jitev K = tev K +1)

{pec_Band12_Supp AND

(p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeheas CapabF DDList [tev_K] radioFrequencyBandFDD2 = bandl) ]
Jitev K = tev K +1)

{pc_Band13_Supp AND

(p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeheasCapabF DDList [tev_K] radioFrequencyBandFDD2 = bandll) |
Jitev K = tev K +1)

{pec_Band14_Supp AND

(p_UE_RadioAccessCapabBandFDD.measurementCapability2. compressedModeheasCapabF DDList [tev_K] radioFrequencyBandFDD2 = handi(V) |
Jitev K = tev K +1)

{pc_Band19_Supp AND

(p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeMeasCapabF DDList [tev_K] radioFrequencyBandFDD2 = handi(:) |
Jitev K = tev K +1)

{pec_Band21_Supp AND

(IP,Uij'amnAccessCapahEandFDD measurementCapability2.compressedModeMeasCapabF DDList [tev_K] radioFrequencyBandFDD2 = band:od) |
(fov K = tev K +1)

wae
To check measurement cap for bands 1 to 7

@sic R8s110671 sic@

W
To check measurement cap for bands 8 to
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[image: image12.png]It_CheckGSM_Measurement2 (p_UE_RadioAccessCapabBandFDD : UE_RadioAccessCapabBandFDD2)

] [pe_GSM_450_BAND AND
(p_UE_RadioAccessCapabBandFDD measurementCapability2.compressedhodeMeasCapabGSMList fov_K]radioFrequencyBandGSM = gsmdso) |
1 (ov_K = tev_Ke1)
0 [pe_GSM_480_BAND AND
(p_UE_RadioAccessCapabBandFDD measurementCapability2.compressedhodeMeasCapabGSMList fov_K]radioFrequencyBandGSM = gsmdgo) |
1 (ev_K = ev_Ke1)
0 [pe_GSM_850_BAND AND
(p_UE_RadioAccessCapabBandFDD measurementCapability2.compressedodeMeasCapabGSMList fov_K]radioFrequencyBandGSM = gsmas) |
1 (ev_K = v Ke1)
0 Tpe_P_GEM_300_BAND AND (NOT pe_E_GSM_B00_BAND) AND

(p_UE_RadioAccessCapabBandrDD measurementCapability2 compressedodeMeasCapabGSHList ftev_K radioFrequencyBandGSH = gsmanor )|

1 (ev_K = tev_Ke1)
0 [pe_P_GEM_300_BAND AND
(p_UE_RadioAccessCapabBandFDD measurementCapability2 compressedodeMeasCapabGSHList ftov_K radioFrequencyBandGSH = gsmanor )|

1 (v K = v Ke1)
0 Tpe_E_GEM_300_BAND AND

(p_UE_RadioAccessCapabBandFDD measurementCapability2 compressedodeMeasCapabGSMList ftev_K radioFrequencyBandGSM = gsmanoe ) |
1 (ov_K = tev_Ke1)
0 [pe_DCS_1800_BAND AND

(p_UE_RadioAccessCapabBandFDD measurementCapability2 compressedodeMeasCapabGSMList fov_K]radioFrequencyBandGSM = gsm1800) |
1 (ov_K = ev_Ke1)
0 [pe_PCS_1900_BAND AND

(p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeMeas CapabGEMList [tev_K] radioFrequencyBandGEM = gsm1900) ]
0 [TRUE)
1 [pc_P_GSM_900_BAND AND (NOT pc_E_GSM_300_BAND) AND
(p_UE_RadioAccessCapabBandFDD.measurementCapability2.compressedModeMeasCapabGSMList [tev_K] radioFrequencyBandGSM = gsm300P ) |
2 Jotev_K = tov_k+1)

2 (ov_K = tov_Len)

®

wa
To Check gsma00P if pc_E_GSM_300_BAND is FALSE and p
©_P_GSM_300_BAND is TRUE.

wa

To Check gsm300F ifpe_E_GSM_900_BAND is TRUE and a
bove condition fails

W Removed Fail verdict

W

= ~65M_900_BAND should be
rue and also allowing gsm300P notto be in the list

To stop the REPEAT Ioop as the checkis FAIL
@sic RE120177 sic@
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{(p_FDDList2. tev_K]. radioF requencyBandF DD2 = bandVil) AND pe_Band8_Supp|
(1_UE_RadioAccessCapabiliyBands = p_FODList2. [ K])

Jtev K = tev k1)

[(p_FDDList2 . tev_K). radioFrequencyBandFDD2 = band[x) AND pc_Band9_Supp ]
(iev_UE_RadiofccessCapabiliyBandd = p_FDDList2. oK)

Jotoy =tov sy

[(p_FDDList2 . tev_K). radioF requencyBandFDD2 = band) AND pc_Band10_Supp ]
(tov_UE_RadioaccessCapabiliyBand10 = p_FDDLIst2. ov_K])

Jotoy =tov sy

[(p_FDDList2 . [tev_K]. radioFrequencyBandFDD2 = bandx() AND pc_Band11_Supp]
(1ev_UE_RaioaccessCapabiiyBand11 = p_FDDLISt2. v K1)

Jotoy =tov sy

[(p_FDDList2. [tev_K]. radioFrequencyBandFDD2 = bandxll) AND pe_Band12_Supp]
(1ev_UE_RaioaccessCapabiiyBant12:= p_FDDLISt2. v K)

Jtev K = tev k1)

[(p_FDDList2. [tev_K). radioFrequencyBandFDD2 = bandxil) AND pc_Band13_Supp ]
(iev_UE_RadioccessCapabiliyBand13:= p_FDDLIst2. fiev_Kq)

Jotoy =tov sy

[(p_FDDList2 . [tev_K). radioFrequencyBandFDD2 = band:IV) AND pc_Band14_Supp]
(tov_UE_RadiosccessCapabiliyBand1 4 = p_FDDLIst2. fov_KI)

Jotoy =tov sy

[(p_FDDList2 . [tev_K). radioFrequencyBandFDD2 = band:(X) AND pc_Band19_Supp]
(1_UE_RadioAccessCapabiliyBand19 = p_FDDList2. fev_KI)

Jotoy =tov sy

[(p_FDDList2. [tev_K)]. radioF requencyBandFDD2 = bandie) AND pe_Band20_Supp ]
(1ev_UE_RaioaccessCapabiiyBan20 = p_FDDLISt2. v K))

Jtev K = tev k1)

[(p_FDDList2 . [tev_K). radioFrequencyBandFDD2 = band:Gd) AND pc_Band21_Supp]
(iev_UE_RadioccessCapabiliyBand2! = p_FODLIst2. fiv_Kq)

Jotoy =tov sy

[(p_FDDList2. [tev_K). radioF requencyBandFDD2 = band:edl) AND pe_Band22_Supp]
(tov_UE_RadiodccessCapabiliyBand22 = p_FODLISt2. fov_K])

K.radioFrequencyBandFDD2 = extension_indicator) |

WA added exension indicator.
e
Band wrangly encoded





2.3 ts_CheckBand1_To7ext_MeasEUTRA
	Object name 
	ts_CheckBand1_To7ext_MeasEUTRA

	Reason for change
	1. This test step checks for each LTE band the capability support of UTRA bands provided in UE_RadioAccessCapabBandFDDList3, therefore the LEN count should be based on the tcv_CountBand1_7 + tcv_CountBand8_22. This test step check the cap for band 1..7 radioFrequencyBandFDD and test step ts_CheckBand8_To22ext_MeasEUTRA checks for 8..22.

2. In lt_Check_CompMeasFDD3 to check only for radioFrequencyBandFDD is incorrect, as the UE could support bands in radioFrequencyBandFDD2, therefore reomved the check (moved to lt_FillInBandInfo)

3. If pics or UE declaration is incorrect the test step runs to infinte loop as K is not incremented

	Summary of change
	1. Modified line 3 to use both variables ([ (tcv_CountBand1_7 + tcv_CountBand8_22) <= tcv_Len ])

2. Modified lt_FillInBandInfo to check the presence of radioFrequencyBandFDD/ radioFrequencyBandFDD2 and based on this to check the bands 1..7 and increment K,Bands 8..22 are not covered in this test step, therefore just incremented.

3. Removed condition check [ IS_PRESENT ( p_UE_RadioAccessCapabBandFDD.radioFrequencyBandFDD )  ]
Modified TTCN to assign a fail verdict and increment K to avoid infinite loop.



	Source of change
	

	Label
	


Before:

[image: image14.png]Test Step

Test Step Id ts_CheckBand1_Ta7ed_WMeasEUTRA (

p_UE_RadioccessCapabiliy : UE_RadioAccessCapabBandFDDList3
)

Test Step Group Ref. UE_CapabiliySteps!

Objective Check band 110 7 compresssed mode measurmernent capabiliy reported by UE for the bands E-UTRA bands

Defaults RRC_Deft

GComments: tev_CountBand1_7 s previsouly nfialised ints_CountNumber0Bands

LI Behaviour Description JLJLL Comments

1 (e CountBandt 7 <> )] UE supports atleast 1 hand from 1 to 7

2| (tov_Len = NUMBER_OF_ELEMENTS (n_UE_RatioAccessCapabily), tev_Len = number of hands information inthe lst

v K=0)

3 |(tev_CountBandt_7 <= tev_Len]

4 | REPEAT It_FillinBandinfo UNTIL [tev_K »=tey_Len ]

5 ||| t_CheckEachBand (pe_Band1_Supp, tov_UE_RadioccessCapabiliyBandi_3)

6 |||+ CheckEachBand (pc_Band2_Supp, tov_UE_RadioAccessCapabiltyBand2_3)

7 ||]+ t_CheckEachBand (pc_Band3_Supp, tov_UE_RadioAccessCapabiliyBand3_3)

8 |||+ icheckEachBand (pc_Band4_Supp, tov_UE_RadioAccessCapabiliyBands_3)

9 |||+ i_CheckEachBand (ne_Bands_Supp, toy_UE_RadioAccessCapabiliyBants_3)

10 111} + t_CheckEachBand ( pc_Bandé_Supp, tov_UE_RadioAccessCapabilityBand6_3)

11 1111} t_checkeachBand (pc_Band7_Supp, tov_UE_RadioAccessCapabiliyBand7_3)

12 ||| 1tev_RF_CapabiltyReported = TRUE ] (F)_ RF capabiliy shall be reported at least once.

13 ""l[mus] RF capability not reported in the capability extension =» chek ftis presentin the
UE ratio access capabiiy

14 |[muE| (F) The number of bands 1-7 supported is different from the number of elementin the.
tist

[TRUE]
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[pc_eBand1_Supp AND
(n_UE_RadinAccessCapabBandFDD.
Jttev K = tev_k +1)
[pe_eBand2_Supp AND
(n_UE_RadinAccessCapabBandFDD.
Jttev K = tev_k +1)
[pe_eBand3_Supp AND
(n_UE_RadinAccessCapabBandFDD.
Jttev K = tev_k +1)
[pc_eBand4_Supp AND
(n_UE_RadinAccessCapabBandFDD.
Jttev K = tev_k +1)
[pc_eBand5_Supp AND
(n_UE_RadinAccessCapabBandFDD.
Jttev K = tev_k +1)
[pc_eBands_Supp AND
(n_UE_RadinAccessCapabBandFDD.
Jttev K = tev_k +1)
[pc_eBand?_Supp AND
(n_UE_RadinAccessCapabBandFDD.
Jttev K = tev_k +1)
[pc_eBanda_Supp AND
(n_UE_RadinAccessCapabBandFDD.
Jttev K = tev_k +1)
[pe_eBanda_Supp AND
(n_UE_RadinAccessCapabBandFDD.
Jttev K = tev_k +1)
[pc_eBand10_Supp AND
(n_UE_RatioAccessCapabBandFDD.
Jttev K = tev_k +1)
{pc_eBand11_Supp AND
(n_UE_RadioAccessCapabBandFDD.
Jttev K = tev_k +1)
[pc_eBand12_Supp AND
(n_UE_RatinAccessCapabBandFDD.
Jttev K = tev_k +1)
[pc_eBand13_Supp AND
(n_UE_RatioAccessCapabBandFDD.
Jttev K = tev_k +1)
[pc_eBand14_Supp AND
(n_UE_RatioAccessCapabBandFDD.
Jetev_K = tov_K +1)

measurementCapability3 compressedhodeMsasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA = 1)]

measurementCapability3.compressedhodeMesasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA =2)]

measurementCapability3 compressedhodeMsasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA = 3)]

measurementCapability3.compressedhodeMsasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA

a1

measurementCapability3.compressedhodeMsasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA = 5)]

measurementCapability3.compressedhodeMsasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA = 6)]

measurementCapability3 compressedhodeMsasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA = 7)]

measurementCapability3.compressedhodeMsasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA = 8)]

measurementCapability3.compressedhodeMsasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA = 9)]

measurementCapability3.compressedhodeMsasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA

01

measurementCapability3 compressedhodeMeasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA = 11)]

measurementCapability3.compressedhodeMeasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA =12)]

measurementCapability3.compressedhodeMsasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA =13)]

measurementCapability3.compressedhodeMeasCapabEUTRALIst [tev_K] radioFrequencyBandEUTRA = 14)]
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H_FillnBandinfo

[(p_UE_RadioAccessCapability.[tev_K].radioF requencyBandF DD = fdd2100) AND pe_Band1_Supp ]
(tev_UE_RadioAccessCapabilityBand1_3 = p_UE_RadioAccessCapability.fev_K])

Jtev K = tev k1)

[(p_UE_RadioAccessCapability.[tcv_K].radioFrequencyBandF DD = fdd1800) AND pc_Band2_Supp]
(tev_UE_RadioAccessCapabilityBand2_3 = p_UE_RadioAccessCapability.ftev_K])

Jtev K = tev k1)

[(p_UE_RadioAccessCapability.[tev_K].radioF requencyBandF DD = fdd1800) AND pc_Band3_Supp |
(tev_UE_RadioAccessCapabilityBand3_3 = p_UE_RadioAccessCapability.ftev_K])

Jtev K = tev k1)

[(p_UE_RadioAccessCapability.ftev_K] radioFrequencyBandFDD = bandlv) AND pc_Bandd_Supp ]

(tev_UE_RadioAccessCapabilityBandd_3 = p_UE_RadioAccessCapability.ftev_K])

Jtev K = tev k1)

[(p_UE_RadioAccessCapability [tev_K] radioFrequencyBandFDD = bandy) AND pc_Band5_Supp ]

(tev_UE_RadioAccessCapabilityBand5_3 = p_UE_RadioAccessCapability.ftev_K])

Jtev K = tev k1)

[(p_UE_RadioAccessCapability [tev_K] radioFrequencyBandFDD = bandvl) AND pc_Bandf_Supp]

(tev_UE_RadioAccessCapabilityBand6_3 = p_UE_RadioAccessCapability.ftev_K])

Jtev K = tev k1)

[(p_UE_RadioAccessCapability.[tev_K].radioFrequencyBandFDD = bandVl) AND pc_Band7_Supp ]
(tev_UE_RadioAccessCapabilityBand?_3 = p_UE_RadioAccessCapability.ftev_K])

Jtev K = tev k1)

[{p_UE_RadioAccessCapability ftev_K].radioFrequencyBandFDD = extension_indicator) |

(iev_K= e Ko )

[TRUE]

Band wrongly encoded





After

[image: image17.png]Test Step

Test Step I ts_CheckBand1_Ta7ed_WMeasEUTRA (
p_UE_RadioccessCapabiliy : UE_RadioAccessCapabBandFDDList3
)
Test Step Group Ref. UE_CapabilitySteps/

Objective: Check band 1 to 7 compresssed mode measurmement capabiliy reported by UE for the bands E-UTRA bands
Defaults: RRC_Defl
Comments: tev_CountBand1 7 is previsouly initialised in ts_CountNumber0fBands

L Behaviour Description

Comments.

0 [(ov_CountBandi 7 <> 0)]
1 (1ev_Len = NUMBER_OF_ELEMENTS (p_UE_RadioAccessCapabily),

2

3

4 ||+ i_CheckEachBand ( pe_Band1_Supp, tov_UE_RadioAccessCapabiliyBand1_3)

5 ||+ t_CheckEachBand ( pc_Band2_Supp, tev_UE_RadioAccessCapabiliyBand2_3)

B ||+ t_CheckEachBand ( pe_Band3_Supp, tov_UE_RadioAccessCapabiliyBand3_3)

7 111+ t_CheckEachBand ( pc_Band4_Supp, tov_UE_RadioAccessCapahilityBandd_3)|

8 |||]1_CheckEachBand (pc_Bands_Sup, tev_UE_RadioccessCapabiltyBands_3)

o ||||+ 1 checkEachBand (pc_Bands_Supp, tev_UE_RadioAccessCapabiliyBands_3)

10 1111} t_checkeachBand (pc_Band7_Supp, tov_UE_RadioAccessCapabiliyBand7_3)

11 |1} ttev_RF _CapabiliyReported = TRUE ]

1 "l"[muEl

2 |[mus|

0 [TRUE]

It_CheckEachBand ( p_Band : BOOLEAN; p_UE_RadioAccessCapabBandFDD : UE_RadioAccessCapabBandFDD3 )

0 [pBand]

1 +It_CheckCompressedModeMeas( p_UE_RadioAccessCapabBandFDD )

0 [TRUE]

It_CheckCompressedModeMeas( p_UE_RadioAccessCapabBandFDD | UE_RadioAccessCapabBandFDD3 )

0 (tev_Len = NUMBER_OF_ELEMENTS ( p_UE_RadioAccessCapabBandFDD.measurementCapability3.compressedModeMeasCapabEUTRALIst ),
tov K=0)

1 [{tev_CountBandEUTRA =tev_Len )]

2 [REPEAT i_Check_CompMeasFDD3 (p_UE_RadioAccessCapabBandFDD ) UNTIL fev_K >=

1 [TRUE]

®

UE supports at least 1 band from 1 to 7
tev_Len'= number of bands infarmation inthe list

WA len should be complete UTRA band list

RF capability shall be reported at least once
RF capability ot reported in the capabiliy extension => chekifitis pr
esentin the UE radio access capabiliy.

(F) The number of bands 1-7 supported is different rom the number of e

)

lement in the list
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P_UE. apabBandFDD | UE_RadioAccessCapabBandFDD3 )
0 3
removed [IS_PRESENT ( p_UE_RadioAccessCapabBandFDD.radio
FrequencyBandFDD) |

1 [pc_eBand1_Supp AND

(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA =1)]
2 Jttev K = tev_k +1)
1 [pc_eBan2_Supp AND

(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA =2)]
2 Jttev K = tev_k +1)
1 [pc_eBand3_Supp AND

(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA = 3)]
2 Jttev K = tev_k +1)
1 [pc_eBands_Supp AND

(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA = 4)]
2 Jttev K = tev_k +1)
1 [pc_eBands_Supp AND

(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA = 5)]
2 Jttev K = tev_k +1)
1 [pc_eBandt_Supp AND

(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA = 6)]
2 Jttev K = tev_k +1)
1 [pc_eBand7_Supp AND

(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA =7)]
2 Jttev K = tev_k +1)
1 [pc_eBands_Supp AND

(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA = 8)]
2 Jttev K = tev_k +1)
1 [pc_eBanda_Supp AND

(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA = 8)]
2 Jttev K = tev_k +1)
1| [ne_eBand10_Supp AND

(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA = 10)]
2 Jttev K = tev_k +1)
1| [ne_eBand11_Supp AND

(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA =11)]
2 Jttev K = tev_k +1)
1| [nc_eBand12_Supp AND

n UE RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALISt ftev K] radioFrequencyBandEUTRA =12)]
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2 Jttev K = tev_k +1)
1 [pe_eBand20_Supp AND
(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA = 20)]
2 Jttev K = tev_k +1)
1 [pe_eBand21_Supp AND
(p_UE_RadioAccessCapabBandFDD. measurementCapability3.compressedModeMeasCapabEUTRALIst. [tev_K] radioFrequencyBandEUTRA = 21)]
2 Jotev K
1 [TRUE] )
0 (F) Wi should not come here.

Increment Kta avoid infinite loop





[image: image20.png][(p_UE_RadioAccessCapability.[tev_K].radioF requencyBandF DD = fdd2100) AND pc_Band1_Supp ]
|(tev_UE_RadioAccessCapabiliyBandt_3 = p_UE_RadioAccessCapability.tev_K])|

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability.[tcv_K].radioFrequencyBandFDD = fdd1800) AND pe_Band2_Supp]
|(tev_UE_RadioAccessCapabiliyBand2_3 = p_UE_RadioAccessCapability.tev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability.[tev_K].radioF requencyBandF DD = fdd1800) AND pc_Band3_Supp |
|(tev_UE_RadioAccessCapabiliyBand3_3 = p_UE_RadioAccessCapability.tev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability.ftev_K] radioFrequencyBandFDD = bandlv) AND pc_Bandd_Supp ]

|(tev_UE_RadioAccessCapabiliyBand4_3 = p_UE_RadioAccessCapability.tev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability.[tev_K] radioFrequencyBandFDD = bandy) AND pc_Band5_Supp ]

|(tev_UE_RadioAccessCapabiliyBands_3 = p_UE_RadioAccessCapability.tev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability [tev_K] radioFrequencyBandFDD = bandvl) AND pc_Bandf_Supp]

|(tev_UE_RadioAccessCapabiliyBand6_3 = p_UE_RadioAccessCapability.tev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability.[tev_K].radioFrequencyBandFDD = bandVll) AND pc_Band7?_Supp ]
|(tev_UE_RadioAccessCapabiliyBand?_3 = p_UE_RadioAccessCapability.tev_K])

1 ov_K = tov_k+1)

[{p_UE_RadioAccessCapability ftev_K].radioFrequencyBandFDD = extension_indicator) |

Jttev K = tev_Ke1)

[15_PRESENT (p_UE_RadioAccessCapabilty.ftov_K]. radioF requencyBandFDD2 ) |

(ev_K = to K1)
TRUE

F)

Wi To check if radioF requencyBandFDD o radioFrequencyBandFD
D2

Band wrongly encoded
Wi To check if radioF requencyBandFDD o radioFrequencyBandfD
D2

radioFrequencyBandFDD2 Band § or later checked in ts_CheckBand
8_To22ex_MeasEUTRA





2.4 ts_CheckBand8_To22ext_MeasEUTRA
	Object name 
	ts_CheckBand8_To22ext_MeasEUTRA

	Reason for change
	This test step checks for each LTE band the capability support of UTRA bands provided in UE_RadioAccessCapabBandFDDList3, therefore the LEN count should be based on the tcv_CountBand1_7 + tcv_CountBand8_22. This test step check the cap for band 8..22 radioFrequencyBandFDD2 and test step ts_CheckBand1_To7ext_MeasEUTRA checks for 1..7.



	Summary of change
	Modified line 3 to use both variables ([ (tcv_CountBand1_7 + tcv_CountBand8_22) <= tcv_Len ])

Modified lt_FillInBandInfo to check the presence of radioFrequencyBandFDD/ radioFrequencyBandFDD2 and based on this to check the bands 8..22 and increment K,Bands 1..7 are not covered in this test step, therefore just incremented.



	Source of change
	

	Label
	


Before:

[image: image21.png]Test Step

Testser o Je_Gneci@ana_ToZ2ex_MeasEUTRA(
_UE_RadiohccessCapabilty + UE_RaioAcosssCapabBandFDDLISts
)
Test Step Group Ref. UE_CapabilitySteps/

Objective: Check band 1 to 7 compresssed mode measurmement capabiliy reported by UE for the bands E-UTRA bands
Defaults: RRC_Defl
Comments: tev_CountBand1 7 is previsouly initialised in ts_CountNumber0fBands

]l Behaviour Description

T Gomments

0 [(ov_CountBands_22 <> 0)]
1 (1ev_Len := NUMBER_OF_ELEMENTS (p_UE_RadioAccessCapabily),
tov K

)

2 |{fe_CountBand1_7 <= fov_Len]

3 | REPEAT it_FillinBandinfo UNTIL [tcv_K >= tov_Len]

4 ||+ t_CheckEachBand  pc_Bands_Supp, tov_UE_RadioAccessCapabilityBands_3)

5 |||+ CheckEachBand (pc_Banda_Supp, tov_UE_RadioAccessCapabiliyBandd_)

6 ||[-tCheckEachBand (pc_Band10_Supp, tov_UE_RadioAccessCapabiliyBand10_s)
7

8

1|+ H_checkEachBand (pe_Band11_Supp, tov_UE_RadioAccessCapabiliyBand11_3)
111+ H_CheckEachBand (pe_Band12_Supp, tov_UE_RadioccessCapabiliyBand13_3)
9 |||+ K CheckEachBand (pe_Bana3_Supp, toy_UE_RadioAccessCanabiliyBandi3_3)
10 1111} t_checkEachBand (pc_Band14_Supp, tev_UE_RadioAccessCapabilityBand14_3)
11 11111+ 1_CheckeachBand (pc_Band19_Supp, tov_UE_RadioAccessCapabilityBand19_3)
12 11111+ t_checkEachBand (pc_Band21_Supp, tev_UE_RadioAccessCapabilitBand0_3)
13 111111+ t_checkeachBand (pc_Band21_Supp, tov_UE_RadioAccessCapabilityBand21_3)
14 1111111+ t_checkEachBand (pe_Band21_Supp, tev_UE_RadioAccessCapabilityBand22_3)
15 ||1|11] (tev_RF_capabiliyReported = TRUE ]
15 "l""[muEl
2 |[mus|
0 ITRUE]
t_CheckEachBan (p_Band : BOOLEAN; p_UE_RadioArcessCapahBandFDD : UE_RadinAccessCapabBandFDD3)
0 [(pBand]
1 +IL_CheckCompressedodeMeas( p_UE_RadioAccessCapabBandFDD )
0 ITRUE]

It_CheckCompressedModeMeas ( p_UE_RadioAccessCapabBandFDD - UE_RadicAccessCapabBandFDD3 )

UE supports at least 1 band from 1 to 7
tev_Len'= number of bands infarmation inthe list

(P) RF capabilly shall be reported atleast once.
RF capability not rsported in the capabiliy edension => chekf itis present
inthe UE radio access capabilty.

(F) The number of bands 1-7 supported is difisrent fom the number of element
inthe list





[image: image22.png]H_FillnBandinfo

0

[15_PRESENT (p_UE_RadioAccessCapability. [tev_K]. radioFrequencyBandFDD2 ) |
[(p_UE_RadioAccessCapability. [tev_K]. radioFrequencyBandFDD2 = bandWill) AND pc_Band8_Supp ]
|(tev_UE_RadioAccessCapabiliyBand8_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability. [tcv_K]. radioFrequencyBandFDD2 = bandl) AND pc_Bandd_Supp]
|(tev_UE_RadioAccessCapabiliyBandd_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = band>) AND pc_Band10_Supp]
|(tev_UE_RadioAccessCapabiliyBand10_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandi|) AND pe_Band11_Supp]
|(tev_UE_RadioAccessCapabiliyBand11_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandXl) AND pc_Band12_Supp ]
|(tev_UE_RadioAccessCapabiliyBand12_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandXll) AND pc_Band13_Supp]
|(tev_UE_RadioAccessCapabiliyBand13_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandIV) AND pe_Band14_Supp]
|(tev_UE_RadioAccessCapabiliyBandt 4_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandi[X) AND pe_Band18_Supp]
|(tev_UE_RadioAccessCapabilityBand19_3 = p_UE_RadioAccessCapabiliy . oK)

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = band)G) AND pc_Band20_Supp]
|(tev_UE_RadioAccessCapabilityBand20_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandi(d) AND pe_Band21_Supp]
|(tev_UE_RadioAccessCapabiliyBand21_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandiCdl) AND pe_Band22_Supp ]
|(tev_UE_RadioAccessCapabiliyBand22_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[TRUE]

[TRUE]

(F) Band wrongly encoded





After:

[image: image23.png]Test Step

Testser o Je_Gneci@anae_ToZ2ex_MeasEUTRA(
_UE_RadiohccessCapabilty + UE_RaioAcosssCapabBandFDDLIsts
)
Test Step Group Ref. UE_CapabilitySteps/

Objective Check band 110 7 compresssed mode measurmernent capabiliy reported by UE for the bands E-UTRA bands

Defaults RRC_Deft

GComments: tev_CountBand1_7 s previsouly nfialised ints_CountNumber0Bands

(I Behaviour Description JLJLL Comments

0 (o CountBangs_22 <> 0)] UE supports atleast 1 hand from 1 to 7

1 (tov_Len = NUMBER_OF_ELEMENTS (n_UE_RadioAccessCapabilty), tev_Len = number of hands information inthe lst

2 Wi tov_len should be complete UTRA band list

3 T

4 ||| t_CheckEachBand (pe_Bands_Supp, tov_UE_RadioAccessCapabiliyBands_3)

5 |||+ CheckEachBand (pc_Banda_Supp, tov_UE_RadioAccessCapabiliyBandd_)

6 ||[-tCheckEachBand (pc_Band10_Supp, tov_UE_RadioAccessCapabiliyBand10_s)

7 |||+ iCheckEachBand (pe_Ban11_Supp, tov_ UE_RadioAccessCapabiliyBand11_3)

8 |||+ i_CheckEachBand (ne_Bandt2 Susp, tov_ UE_RadioAccessCapabiliyBand123)

9 |||+ K CheckEachBand (pe_Bana3_Supp, toy_UE_RadioAccessCanabiliyBandi3_3)

10 1111} t_checkEachBand (pc_Band14_Supp, tev_UE_RadioAccessCapabilityBand14_3)

11 11111+ 1_CheckeachBand (pc_Band19_Supp, tov_UE_RadioAccessCapabilityBand19_3)

12 11111+ t_checkEachBand (pc_Band21_Supp, tev_UE_RadioAccessCapabilitBand0_3)

13 111111+ t_checkeachBand (pc_Band21_Supp, tov_UE_RadioAccessCapabilityBand21_3)

14 1111111+ t_checkEachBand (pe_Band21_Supp, tev_UE_RadioAccessCapabilityBand22_3)

15 ||1|11] (tev_RF_capabiliyReported = TRUE ] (F)_ RF capabiliy shall be reported at least once.

15 """l[mus] RF capability not reported in the capabilty extension =» chek fitis pres
entin the UE radio access capabilty.

2 |[muE| (F) The number of bands 1-7 supported is different from the number of ele
ment i the list

0 ITRUE]

t_CheckEachBan (p_Band : BOOLEAN; p_UE_RadioArcessCapahBandFDD : UE_RadinAccessCapabBandFDD3)

0 [(pBand]

1 +IL_CheckCompressedodeMeas( p_UE_RadioAccessCapabBandFDD )

0 [TRUE]





[image: image24.png]It_FillnBandinfa

0 [15_PRESENT (p_UE_RadioAccessCapability. [tev_K]. radioFrequencyBandFDD2 ) |
[(p_UE_RadioAccessCapability. [tev_K]. radioFrequencyBandFDD2 = bandWill) AND pc_Band8_Supp ]
|(tev_UE_RadioAccessCapabiliyBand8_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability. [tcv_K]. radioFrequencyBandFDD2 = bandl) AND pc_Bandd_Supp]
|(tev_UE_RadioAccessCapabiliyBandd_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = band>) AND pc_Band10_Supp]
|(tev_UE_RadioAccessCapabiliyBand10_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandi|) AND pe_Band11_Supp]
|(tev_UE_RadioAccessCapabiliyBand11_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandXl) AND pc_Band12_Supp ]
|(tev_UE_RadioAccessCapabiliyBand12_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandXll) AND pc_Band13_Supp]
|(tev_UE_RadioAccessCapabiliyBand13_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandIV) AND pe_Band14_Supp]
|(tev_UE_RadioAccessCapabiliyBandt 4_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandi[X) AND pe_Band18_Supp]
|(tev_UE_RadioAccessCapabilityBand19_3 = p_UE_RadioAccessCapabiliy . oK)

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = band)G) AND pc_Band20_Supp]
|(tev_UE_RadioAccessCapabilityBand20_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandi(d) AND pe_Band21_Supp]
|(tev_UE_RadioAccessCapabiliyBand21_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

[(p_UE_RadioAccessCapability . [tev_K]. radioFrequencyBandFDD2 = bandiCdl) AND pe_Band22_Supp ]
|(tev_UE_RadioAccessCapabiliyBand22_3 = p_UE_RadioAccessCapability . ftev_K])

1 ov_K = tov_k+1)

(F) Band wrongly encoded
[15_PRESENT (p_UE_RadioAccessCapabiliy. ftov_K]. radioF requencyBandFDD) |

Wa#Band 1 1o 7 are alreatly checked

(tov, 1)

[G)





2.5 ts_CheckEUTRA_IRAT
	Object name 
	ts_CheckEUTRA_IRAT

	Reason for change
	1. In the last RAN5 meeting it was agreed to allow Rel-8 UTRAN and Rel-9 LTE version to be allowed.
2. The teststep does not allow P-GSM to be not present when E-GSM is supported.



	Summary of change
	1. Modified the teststep to allow Rel-8 or Rel-9 in LTE if UE is Rel-8 in UTRAN.
2. Added additonal check for P-GSM handling.



	Source of change
	

	Label
	


Before:

[image: image25.png]Test Step

[TestSten 10 ts_CheckEUTRA_IRAT
p_EUTRA_RAC : EUTRA_RadioAccessCapabilly
)

Test Sten Group Ref. UE_CapabiitiRAT_Steps!

Objestve
Defauts 58_Def
Comments sl RSs120267 sic
(L)1 Behaviour Description I Constraint Ref LI Comments
0| +ISeEUTRA Release
1 i SelFeatoroup
2 CCodec | DEC_PERbitstingEUTRA_REQ cas_PERbitstringEUTRA_REQ (

0_OctToBit (o_EUTRA_RAC.ue_EUTRA_Capability),

UE_EUTRA_Capability

)

3 pe_FealiGrp_1 OR pe_FealiGra_2 OR pe_FealiGrp_3 OR pc_Fealir_4 OR pe_FealiGrp_& OR pe_Fea

[

G_6 OR pe_FeatrGrp_7 OR pe_FealrGrp_8 OR pe_FeatrGrp_9 OR pc_FeatrGrp_10 OR pe_Featom_1 1
R pe_FealrGp_12 OR pe_FeatrGrp_13 OR pc_FeatrGrp_14 OR pe_Featom_15 OR pc_FeatrGrp_16 OR
_Fealrrp_17 OR pe_FealrGrp_1B OR pe_FeatrGrp_18 OR pe_FealrGrp_20 OR pe_FealrGrp_21 OR pe

FealrGm_22 OR pe_FeatrGtp_23 OR pe_FealrGn_24 OR pe_FeatrGrp_25 OR pc_Featrrp_26 OR pe_F

atom_27 |

4 ‘ CCodec 7DEC_PERbitstringEUTRA_CNF

_EUTRA_Capabiliy = DEC_PERbitsttingEUTRA_CNF. containedType . ue_EUTRA_Capability

||+ 1_CheckeUTRA_BandList
1|+ 1_checkFDD_BandList
111+ 1 checkoERaN_List
| [TRUE]
CCodec 2DEC_PERbitshingEUTRA_CNF

_EUTRA_Capabiliy = DEC_PERbitsttingEUTRA_CNF. containedType . ue_EUTRA_Capability

5 ||+ CheckEUTRA BandList
6 ||[+ N CheckfDD_BandList

7 |l + K CheckGERAN_List

t_CheckGERAN_List

] [pc_UMTS_GSM ]

1 +It_CheckGERAN_Band (pc_GSM_450_BAND, gsm450 )

2 |+ I_CheckGERAN_Band ( pc_GSM_480_BAND, gsmd8n)

3 | +H_CheckGERAN_Band ( pc_GSM_710_BAND , gsm710)

4 |[+ 1 CheckGERAN Band (pc_GSM_750_BAND._gsm750)

5 ||+ CheckGERAN Band (pc_T_GSM_610_BAND , gsm810)
6 ||+ I CheckGERAN_Ban (pc_G8M_850_BAND , psmasn)
7

8

9

1

1

o

||+ I_CheckGERAN_Band ( pe_P_GSM_800_BAND, gsma00F)
1]+ IL_CheckGERAN_Band (pc_E_GSM_900_BAND, gsmange )
|+ I_CheckGERAN._Band ( pc_R_GSM_300_BAND, gsm300R )
1]+ H_CheckGERAN_Band ( pc_DCS_1800_BAND, gsm1800)
1]+ 1_CherkERAN_Band ( oc_PCS_1900_BAND, gsmi900)
[TRUE]

car_PERbitstringEUTRA_CNF (

Cr_EUTRA_Capabily (
to_EUTRA_Relind
te_FeatGroup

)

)

car_PERbitstringEUTRA_CNF (

Cr_EUTRA_Capabily (
to_EUTRA_Relind
. ev_FeatGroup)
)
)





After

[image: image26.png]Behaviour Description

T Constrant et

]l Commerts

1 W SelEUTRA Release
2 +1t_setFeatGroup
3 (CCotlec | DEC_PERbistringEUTRA_REQ

ealrGrn_B OR pc_Fealirp_7 OR pe_FealrGin_8 OR pc_Fealrorm_9 OR pe_FealrGra_10 OR pe_Feal
rp_11 OR pc_FeatrGrp_12 OR pe_FealtGrp_{3 OR pc_FeatrGtp_14 OR pe_FealrGrn_15 OR pe_Feat
p_16 OR pc_FeatrGrp_17 OR pe_FealrOrp_1 8 OR pc_FeatrGtp_19 OR pe_FealrGrn_20 OR pe_Feat
rp_21 OR pc_FeatrGrp_22 OR pe_FealrOrp_23 OR pc_FeatrGtp_24 OR pe_FealrGrn_25 OR pe_Feat
1p_26 OR pc_FeatrGrp_27 ]

5 ‘ CCodec 7DEC_PERbitstringEUTRA_CNF

4 Epcreauemw OR pc_FeatrGrp_2 OR pc_FeatrGrp_3 OR pc_FeatrGrp_4 OR pc_FeatrGrp_5 OR pc_

6 ||+ 1 CheckEUTRA BandList
7 ||+ K CheckfDD_BandList
8 |||+ CheckGERAN_List
) ITRUE]
10, |[CCodec 7DEC_PERBHsiingEUTRA_CNF
/_EUTRA_Capabilty = DEC_PERbittringEUTRA_CF. containedType . ue_EUTRA_Capabily
]
2

13 |||+ CheckFDD_BandList
14 ||1]+ n_CheckoERAN_List
It_CheckGERAN. List

cas_PERbitstringEUTRA_REQ (
0_OctToBit (n_EUTRA_RAC.ue_EUTRA_Capahilty),
UE_EUTRA_Capability

)

car_PERbitstringEUTRA_CNF (

)
)

car_PERbitstringEUTRA_CNF (

e
changed tev_EUTRA_Rellndto 7

e

WA new test sten
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15
16
17
18
19
20
2
2
23
24
25
26
27
28
29

[pc_UMTS_GSM ]

+It_CheckGERAN_Band (pc_GSM_450_BAND, gsm450 )

|+ I_CheckGERAN_Band ( pc_GSM_480_BAND, gsmd8n)

| +H_CheckGERAN_Band ( pc_GSM_710_BAND , gsm710)
]+ I CheckGERAN_Band (pc_GSM_750_BAND , gsm750)
1]+ _CheckGERAN_Ban (nc_T_GS_810_BAND., gsme10)

I
|
|
|| +1t_CheckGERAN_Band ( pe_R_GSM_800_BAND, gsma0oR )

|||+ 1_CheckGERAN_Band ( pe_DCS_1800_BAND, gsm1800)

1111+ i_cherkoERaN_Bana ( pe_PCS_1900_BAND, gsm1a00)

(TRUE]

[NOT (15_PRESENT (ev_EUTRA_Capabilty. inferRAT_Parameters.gerar) )
(TRUE]

1 CheckP GSM 800 Band (n BandiCS - BOOLEAN- b Bandvalue - SuonoredBandGERAN Y

®)
®

W Special Handling for GSM 900




[image: image28.png]It_CheckP_GSM_900_Band (p_BandICS : BOOLEAN; p_BandValue : SupportedBandGERAN )

30, [pe_P_GSM_800_BAND AND (NOT pc_E_GSM_900_BAND)] To Checkif pe_E_GSM_00_BAND is FALSE and pe_P_GSM_900_BA
ND is TRUE.

31| +H_CheckGERAN_Band (pc_P_GSM_300_BAND, gsmanoP)

32 [NOT pe_P_GSM_800_BAND AND (oc_E_GSM_900_BAND)] (F) Enforcing pe_P_GSM_300_BAND to be TRUE. if pe_E_GSM_300_BAND
s TRUE

33 [RUE




[image: image29.png]1 [tov_EUTRA_Relind = rsig ]
13

1 [(tev_EUTRA_Capabilty.accessStratumRelease = relg) OR (icv_EUTRA_Capabiliy.accessSiratumRel ®

14, ease=reld)

1 tev_EUTRA_Relind = relg]

15

1 tev_EUTRA_Capabiliy accessStratumRelsass =reig] ®

16

1 [TRUE] ®

17

1 [TRUE] (F) Rel-10 or ater not supported Yet I
18
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